Sr Questions Answers Choice

A pop

1 =SS o8 Ay g S';

Sy
BIBIS
o

2 PPN, < PRE PR PRT S Py
3 dms{-ﬂ;ﬁjﬁdﬁ—g.
4 = 1S i S s,

soss
. JEs
5 = s S o, -
L&au
[BENES

Y58
ol 53
pais &

6 o S S 2 eSS LS (e D,

=)0 S dsss)
e (S s
= 3y

=

7 = U S g amy S G SO (e g2

Jsassl
R . . Soss

8 = s A e Jag s L S 1S J g .

B

YL

i g_dul

e:\%.uﬁfs‘

adis (JS

: YJ);

9 = U (Jym e S sg,

10 C‘I\:D\?S/mdéglﬁnéhtsdm_

— s

1" =l s S Je =059

= Jiu

i f

12 S S S sl

UOU> DUOWP» DOWP UOWr UOWP» DOUP U0W> UOW» DOW» U0U> U0Wr O

i



